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6SHFLILFDWLRQ� 
6XEMHFW�WR�FKDQJH�
ZLWKRXW�QRWLFH  

Features 
 
7\SH�1��60$�RU�71&�VWDLQOHVV�VWHHO�0�)�FRQ�
QHFWRUV�SHU�0,/-67'-���$��LQWHUIDFH�GLPHQ�
VLRQV�PDWH�QRQGHVWUXFWLYHO\�ZLWK�0,/-35)-
��������'HVLJQHG�WR�PHHW�0,/-'7/-�����HQYL�
URQPHQWDO�VSHFLILFDWLRQ��)ODW�ERG\�ZLWK��-���
PRXQWLQJ�KROHV�IRU�FRQGXFWLYH�FRROLQJ� 
 

Specifications 
 
1RPLQDO�,PSHGDQFH������RKPV� 
 
)UHTXHQF\�5DQJH���'&�WR�����*+] 
 
1RPLQDO�G%�9DOXHV�����-����G% 
 
3RZHU�&RHIILFLHQW����������G%�G%�:� 
8QLGLUHFWLRQDO�LQ�SRZHU� 
 
3RZHU�5DWLQJ�������:�PD[LPXP�DYHUDJH�UDW�
HG�SRZHU�ZLWK�FDVH�WHPSHUDWXUH�KHOG�WR�����&�
XVLQJ�FRQGXFWLYH�KHDW�VLQN������N:�SHDN�SRZHU�
����VHF�SXOVH�ZLGWK�������GXW\�F\FOH�� 
� 
7HPSHUDWXUH�5DQJH����-���&�WR������&� 
 
7HPSHUDWXUH�&RHIILFLHQW����������G%�G%��&� 
 
&RQVWUXFWLRQ���%ODFN�DOXPLQXP�DOOR\�ERG\�ZLWK� 
SDVVLYDWHG�VWDLQOHVV�VWHHO�FRQQHFWRUV���*ROG�
SODWHG�EHU\OOLXP�FRSSHU�RU�VWDLQOHVV�VWHHO�FRQ�
WDFWV��5R+6�&RPSOLDQW� 
 
&DOLEUDWLRQ���,QVHUWLRQ�/RVV�DQG�96:5�SHU�
IRUPHG�DFURVV�IUHTXHQF\�UDQJH��&DOLEUDWLRQ�WHVW�
GDWD�DYDLODEOH�DW�DGGLWLRQDO�FRVW� 
 
/RZ�,QWHUPRGXODWLRQ�2SWLRQ���$GG�-/,0�DIWHU� 
FRQQHFWRU�RSWLRQ�WR�VSHFLI\�ORZ�LQWHUPRGXODWLRQ� 

6WDQGDUG�1RPLQDO�9DOXHV�DQG�'HYLDWLRQV� 
 
 
 
 
 
 

0D[LPXP�96:5� 
 
 
 
 
 
 

'LPHQVLRQV� 
 
:HLJKW������������ 
+HLJKW������������ 
:LGWK������������ 
 
1RWH���'LPHQVLRQV�DUH�
JLYHQ�LQ�PP��LQ���RU�NJ�
�R]���:HLJKW�ILJXUH�LV�
QRPLQDO��ZLWK�RXU�VWDQG�
DUG�FRQQHFWRU�FRQILJX�
UDWLRQ��$GGLWLRQDO�FRQ�
QHFWRU�RSWLRQV�PD\�EH�
DYDLODEOH� 
 
 
  

 
 

)L[HG�&RD[LDO�$WWHQXDWRU������������������������������:$��� 
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/HQJWK 
'LPHQVLRQ�
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